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E–3055 

B. Com. (Part III) EXAMINATION, 2021 

(Compulsory) 

Paper Third 

MANAGEMENT ACCOUNTING 

Time : Three Hours ]  [ Maximum Marks : 75 

[ Minimum Pass Marks : 25 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- ¼v½ izca/kdh; ys[kkadu dh fofHkUu rduhdksa dk o.kZu dhft,A  10 

Explain the various tools of Management Accounting.  

¼c½ foŸkh; fooj.k ls vki D;k le>rs gSa \ 5 

What do you understand by Financial Statement ? 
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vFkok 

(Or) 

31 ekpZ] 2020 dks vkj- th- fyfeVsM dk fpëk fuEuor~ Fkk % 

vkfFkZd fpëk 

nkf;Ro 
jkf’k  

¼`½ 

va’k iw¡th 2,00,000 

lap; ,oa vfrjsd 58,000 

_.ki= 1,00,000 

ysunkj 40,000 

ns; fcy 20,000 

vU; py nkf;Ro 2,000 

 4,20,000 

 

lEifŸk;k¡ 
jkf’k  

¼`½ 

[;kfr 1,20,000 

;a= ,oa e’khujh 1,50,000 

LVkWd 80,000 

nsunkj 45,000 

gLrLFk jksdM+ 17,000 

cSad esa jksdM+ 8,000 

 4,20,000 
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o”kZ esa fcØh    ` 4,00,000 

fcØh dh ykxr  ` 2,40,000 

vkidks fuEufyf[kr vuqikrksa dh x.kuk djuh gS % 

¼v½ pkyw vuqikr 

¼c½ rjy vuqikr 

¼l½ LdU/k vkorZ 

¼n½ vkSlr olwyh vof/k  

The Balance Sheet of R. G. Ltd. as at 31 March, 2020 was as 

under :  

Balance Sheet 

Liabilities  
Amount  

(`) 

Share Capital  2,00,000 

Reserves and Surplus 58,000 

Debentures  1,00,000 

Creditors  40,000 

Bills Payable  20,000 

Other Current Liabilities 2,000 

 4,20,000 
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Assets 
Amount  

(`) 

Goodwill 1,20,000 

Plant and Machinery  1,50,000 

Stock  80,000 

Debtors  45,000 

Cash in hand 17,000 

Cash at Bank  8,000 

 4,20,000 

Sales for the year  ` 4,00,000 

Cost of sales   ` 2,40,000 

You are required to calculate the following ratios : 

(a) Current ratio  

(b) Quick ratio  

(c) Inventory turnover  

(d) Average collection period  

bdkbZ&2 

(UNIT—2) 

2- vxzfyf[kr leadksa ls dks”k izokg fooj.k rFkk dk;Z’khy iw¡th esa 

ifjorZu dh vuqlwph rS;kj dhft, % 
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vkfFkZd fpëk ¼31 ekpZ dh fLFkfr esa½ 

nkf;Ro 
jkf’k ¼`½ 

2019 2020 

va’k iw¡th 1,00,000 1,25,000 

lkekU; lap; 25,000 30,000 

ykHk&gkfu [kkrk 15,250 15,300 

cSad _.k 35,000 — 

ysunkj 75,000 67,600 

dj ds fy, izko/kku 15,000 17,500 

 2,65,250 2,55,400 

 

lEifŸk;k¡ 
jkf’k ¼`½ 

2019 2020 

Hkwfe ,oa Hkou 1,00,000 95,000 

la;a= 75,000 84,500 

LVkWd 50,000 37,000 

nsunkj 40,000 32,100 

gLrLFk jksdM+ 250 300 

cSad esa jksdM+ — 4,000 

[;kfr — 2,500 

 2,65,250 2,55,400 
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vfrfjDr lwpuk,¡ % 

¼v½ o”kZ 2019&20 ds nkSjku ` 11,000 dk ykHkka’k fn;k x;kA  

¼c½ Iyk.V ij dkVk x;k kl ` 7,000 FkkA 

¼l½ o”kZ 2019&20 esa dj ds fy, fd;k x;k izko/kku ` 16,500 FkkA  

From the data given below, prepare a funds flow statement 

and schedule of working capital : 

Balance Sheet (as at 31st March) 

Liabilities 

Amount (`) 

2019 2020 

Share Capital 1,00,000 1,25,000 

General Reserves  25,000 30,000 

P & L A/c 15,250 15,300 

Bank Loan  35,000 — 

Creditors  75,000 67,600 

Provision for tax 15,000 17,500 

 2,65,250 2,55,400 
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Assets 
Amount (`) 

2019 2020 

Land and Building  1,00,000 95,000 

Plant 75,000 84,500 

Stock  50,000 37,000 

Debtors  40,000 32,100 

Cash in hand 250 300 

Cash at Bank  — 4,000 

Goodwill — 2,500 

 2,65,250 2,55,400 

Additional Information : 

(a) Dividend of ` 11,000 was paid during the year  

2019-20. 

(b) Depreciation charges on plant was ` 7,000. 

(c) Provision for taxation made during 2019-20 was  

` 16,500. 

vFkok 

(Or) 

jksdM+ izokg fooj.k D;k gS \ ;g dks”k izokg fooj.k ls fdl izdkj 

fHkUu gS \ 

What is Cash Flow Statement ? How does it differ from 

funds flow statement ?  
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bdkbZ&3 

(UNIT—3) 

3- lhekar ykxr fof/k ls vki D;k le>rs gSa \ izca/kdh; fu.kZ;ksa eas 

lhekar ykxr fof/k ds dqN egRoiw.kZ mi;ksxksa dks crkb,A  

What do you understand by Marginal Costing ? State some 

of the important applications of marginal costing for 

managerial decisions.  

vFkok 

(Or) 

tk;dks fy- viuh {kerk dk 60% iz;ksx djds izfro”kZ 12000 

bdkb;k¡ fufeZr djrh gSA izfr bdkbZ foØ; ewY; ` 50 gS vkSj dqy 

ykxr Fkh % 

 ` 

lkexzh 1,20,000 

Je 2,40,000 

ifjorZu’khy mifjO;; 48,000 

LFkk;h mifjO;; 1,20,000 

 5,28,000 

dEiuh ` 40 izfr bdkbZ foØ; ewY; ij vfrfjDr 10000 bdkb;ksa dk 

,d izLrko Lohdkj djrh gSA c<+h gqbZ Ø; dh ek=k ls lkexzh ewY; esa 

1
2 %

2
 dh deh vk;sxhA etnwjh nj leku ;Fkkor jgrh gS] ijUrq 

u;s Jfedksa dh HkrhZ ds dkj.k etnwjh njksa esa 10% dh of̀) gksxhA 

Je lEcU/kksa esa lq/kkj ds dkj.k Je dh mRikndrk esa 5% dh of̀) dh 

laHkkouk gSA ifjorZu’khy mifjO;; dk mRikfnr bdkb;ksa dh la[;k ls 

fLFkj vuqikr jgrk gSA LFkk;h O;; ` 15,000 ls c<+saxsA  

vkns’k dh Lohdf̀r dh lkFkZdrk n’kkZrs gq, ,d fooj.k rS;kj dhft,A  
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Jayco Ltd. manufactures 12000 units per annum by utilising 

60% of its capacity. The selling price per unit is ` 50 and the 

total costs were : 

 ` 

Materials  1,20,000 

Labour  2,40,000 

Variable Overheads  48,000 

Fixed Overheads  1,20,000 

 5,28,000 

The company accepts an offer for an additional 10000 units 

at a selling price of ` 40 each. The increased volume of 

purchases will reduce material prices by 
1

2 %
2

, wages rates 

remain constant but due to employment of new workers, 

wage rates will increase by 10%. Due to improvement in 

labour relations, overall productivity of labour is likely to 

increase by 5%, variable overheads maintain a constant ratio 

to the number of units produced. Fixed overheads will 

increase by ` 15,000. 

Prepare a statement showing the suitability of accepting the 

order.    



 [ 10 ] E–3055 

 

bdkbZ&4 

(UNIT—4) 

4- ¼v½ mŸkjnkf;Ro ys[kkadu dh vo/kkj.kk dh O;k[;k dhft,A  5 

Explain the concept of responsibility accounting.  

¼c½ ‘kwU; vk/kkfjr ctVu D;k gS \ blds vkSfpR; dk ijh{k.k 

dhft,A   10 

What is Zero Based Budgeting ? Examine its rationale.  

vFkok 

(Or) 

,d dkj[kkus esa 5000 bdkb;ksa ds mRiknu ds fy, O;; fuEu izdkj 

fn;s x;s gSa % 

 izfr bdkbZ 

¼`½ 

lkexzh  40 

Je 20 

ifjorZu’khy mifjO;; 10 

LFkk;h mifjO;; ¼` 50,000½ 10 

iz’kklfud O;; ¼5% ifjorZuh;½ 10 

foØ; O;; ¼LFkk;h 40%½ 6 

forj.k O;; ¼LFkk;h 25%½ 5 

dqy foØ; ykxr izfr bdkbZ 101 

vkidks 8000 bdkb;ksa ds mRiknu ds fy, ctV rS;kj djuk gSA  
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The expenses of the production of 5000 units in a factory are 

given as follows : 

 per unit 

(`) 

Materials  40 

Labour  20 

Variable Overhead 10 

Fixed Overhead (` 50,000) 10 

Administrative Expenses  (5% variable) 10 

Selling expenses (40% fixed) 6 

Distribution expenses (25% fixed) 5 

Total cost of sales per unit 101 

You are required to prepare a budget for the production of 

8000 units. 

bdkbZ&5 

(UNIT—5) 

5- ^izeki ykxr* ,oa ^izeki ykxr fof/k* esa vUrj dks le>kb, rFkk 

blds mís’;ksa dh foospuk dhft,A  

Distinguish between ‘standard cost’ and ‘standard costing’ 

and discuss its objects.  
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vFkok 

(Or) 

,d jklk;fud feJ.k dh izeki ykxr fuEufyf[kr gS % 

lkexzh A : 4 Vu] ` 16 izfr Vu dh nj ls  

lkexzh B : 8 Vu] ` 18 izfr Vu dh nj ls  

izeki mRiknu fofu;ksx dk 80% gSA  

bl vof/k ds fy, okLrfod ykxr fuEufyf[kr gS % 

lkexzh A : 6 Vu] ` 9 izfr Vu dh nj ls  

lkexzh B : 7 Vu] ` 15 izfr Vu dh nj ls  

okLrfod mRiknu 10 Vu gSA  

lkexzh fopj.k dh x.kuk dhft,A  

The standard cost of a chemical mix is as under : 

4 tons of material A @ ` 16 per ton  

8 tons of material B @ ` 18 per ton  

Standard yield is 80% of input. 

The actual cost for the period is as under : 

6 tons of material A @ ` 9 per ton  

7 tons of material B @ ` 15 per ton  

Actual yield is 10 tons.  

Compute Material Variance.  
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